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ݐ߲ܷ߲ = ܽଶ ߲ଶܷ߲ݔଶ + ,ݐ)ߣ ܷ(ݔ െ ܸ ݔ߲ܷ߲ ++ ,ݐ)݂ (ݔ + ,ݐ)ߟ  (ݔ

,ݐ)ߟܧ ,߬)ߟ(ݔ (ݏ = ,ݐ)ܳ ,ݔ ߬)ߜ(ݏ െ ,ݐ)ߟܧ(ݐ (ݔ = 0
,ݐ)ܷ (଴ݔ = ,ݐ)ܷ(ݐ)଴ݔߦ (ேݔ = (ݐ)ேݔߦ

,ݐ)݂ (ݔ = ൜g(ݐ)  ݔ = ݔ      0 ;0 > 0;
k k k

ܷ௞,௡ାଵ = ܷ௞,௡ + ߬ ൬߲ܷ߲ݐ ൰௞,௡ + ܱ(߬ଶ)ܷ௞,௡ାଵ = ܷ௞,௡ ± ݄௫ ൬߲ܷ߲ݐ ൰௞,௡ + 12 ݄௫ଶ ቆ߲ଶܷ߲ݔଶ ቇ௞,௡ ±
± 16 ݄௫ଶ ቆ߲ଷܷ߲ݔଷ ቇ௞,௡ ± ܱ(݄௫ସ)

ܷ௞,௡ାଵ െ ܷ௞,௡߬ = ܽ ܷ௞ାଵ,௡ െ 2ܷ௞,௡ + ܷ௞ିଵ,௡οݔଶ െെܸ ܷ௞ାଵ,௡ െ ܷ௞ିଵ,௡2οݔ + ௞,௡ܷߣ + ,௡ݔ)݂ (௡ݐ + ,௡ݔ)ߟ (௡ݐ
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A

ܷ௞,௡ାଵ = ܽିଵܷ௞ିଵ,௡ + ܽ଴ܷ௞,௡ + ܽଵܷ௞ାଵ,௡ܽିଵ = ൬ ܽ(οݔ)ଶ + ܸ2οݔ൰ ߬ܽ଴ = ൬1߬ െ 2ܽ(οݔ)ଶ + ൰ߣ ߬ܽଵ = ൬ ܽ(οݔ)ଶ െ ܸ2οݔ൰ ߬
A B

ܷ௞ିଵ,௡௜ ܷ௞,௡௜ , ܷ௞ାଵ,௡௜  

Y

ܺ = ێێۏ
௞ିଵ,௡௡భܷڮ௞ିଵ,௡଴ܷ௞ିଵ,௡ଵܷۍ

ܷ௞,௡଴ܷ௞,௡ଵܷڮ௞,௡௡భ
ܷ௞ାଵ,௡଴ܷ௞ାଵ,௡ଵܷڮ௞ାଵ,௡௡భ ۑۑے

ې ; ܻ = ێێێۏ
ۍ ܷ௞,௡ଵܷ௞,௡ଶܷڮ௞,௡௡భାଵۑۑۑے

ې
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ܷ଴,௡ = ܾ଴ܳ + ܾଵܳܯ
Q

U U U
B

ݐܷ݀݀ = െܸ ݔܸ݀݀ + ,ݔ)݂ (ݐ + ,ݔ)ߣ ܷ(ݐ
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ܷ௞,௡ାଵ = ܾ଴ܷ௞,௡ + ܾଵܷ௞ିଵ,௡

ܽିଵ = ൬ 1,4(30000)ଶ + 0,752 ή 30000൰ ή 3600 = 0,045ܽ଴ = ൬ 13600 െ 2 ή 1,4(30000)ଶ + 1൰ ή 3600 = 0,36;
ܽଵ = ൬ 1,4(30000)ଶ െ 0,752 ή 30000൰ ή 3600 = െ0,044

ܽିଵܷ௞ିଵ,௡ + ܽ଴ܷ௞,௡ + ܽଵܷ௞ାଵ,௡ = ܾ଴ܷ௞,௡ + ܾଵܷ௞ିଵ,௡ܽଵܷ௞ାଵ,௡ = ܾ଴ܷ௞,௡ + ܾଵܷ௞ିଵ,௡ െ ܽିଵܷ௞ିଵ,௡ െ ܽ଴ܷ௞,௡ܷ௞ାଵ,௡ = ܾ଴ܷ௞,௡ + ܾଵܷ௞ିଵ,௡ െ ܽିଵܷ௞ିଵ,௡ െ ܽ଴ܷ௞,௡ܽଵܷ௞ାଵ,௡ = ଴,଼ଵή଴,ସସଵା଴,଴ଶή଴,ହ଼଴ି଴,଴ସହή଴,ହ଼଴ି଴,ଷ଺ή଴,ସସଵ଴,଴ସସ = 0,267 ଷΤ


